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Find thi f the following infinit ies. b
ind the sum of the following infinite series FAHL %@%D%*&)io
e E 1 1 1 1 Examine the convergence and divergence of the following infinite
f5il /E + + + + geometric series, and when it converges, find the sum.
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tT23 34 (n+7)(n+2) RT D, 2 DA
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Find the range of values of x such that the following infinite
geometric series converges. Also, find the sum.
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Bl x+ax(x+ 1)+ a(x+1)P2+x(x+1)P4---
Lrzs 50 L5z
MAH X, N +F/)TEEINS, R RTBEDD
V2k5L® I RALE D A
B+ 5 EHE x=0 £ ‘ x+/‘ <7
‘x+/‘</ £ =7 <x+7 <7
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B 1+ (x+2)+(x+ 22+ (xt 20+
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1. /k@ﬁﬁEf&%I@ﬁ%*?bot 2. KD KD I HERE H:f&%(@ W, ez ~, IR
Find thi f the following infinit ies. be
ind the sum of the following infinite series FAHL %@%D%*&)JQO
e E 1 1 1 1 Examine the convergence and divergence of the following infinite
151 RE + + + + .. geometric series, and when it converges, find the sum.
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/ / / /
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Find the range of values of x such that the following infinite
geometric series converges. Also, find the sum.
nnEn
Bl x + x(a?—1)+ x(a2—1)2+ x(a2—1)3+ -~
Lxlsd 950 Ly 5%<
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Find the sum of the following infinite series.
nn En 3 3 3 3
il 2°5+ 5°8+ 8°11+ 11-14+
P nijti ’ ! — !
RS T Gn—7) (3n 1) sn—17 sn+2
=z 5 Sk
% niﬁif@*ﬁ/\%ﬂ%sn L3 Bl
Sp=——f —— e ————
245 5% g 77 (3n—7) (3n+2)
(L _ S _ L A
‘(2 5)+(5 x)+(x //)+
/ /
* +( 3 n—7 3 n+2 )
()
2 3 n+2
. . / / - /
Hm S = lim ( 2 3 nt2 )‘ 2
AT
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Examine the convergence and divergence of the following infinite
geometric series, and when it converges, find the sum.
nwiEn HAEWD
i [l 8
O, A —2 OHE 1, A —
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V3
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EHT 5,
divergence
Lrz) 90 Lrz) 50
@ 1, /AH:‘/_% @#H 1, /Att‘/_%
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convergence sum
Y S
e
2
= 44+2Vv3
tﬂukau% T Ly ox< B A
3. /k@ﬁffﬁé tl:f&%uh Wk T3 LD 7 x 0 i o
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Find the range of values of x such that the following infinite
geometric series converges. Also, find the sum.
VN
B 1+ (2—x)+(2—x )2+ (2—x)3+ -
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Find the coordinates of the point that the next point P approaches.
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il i

o JobrlEALES AN i
[ENE TﬁP@EMOW%E@m§K1
positive direction
:5"6' ek S i :5"6'
EH, WICADMEIZ — R, IHIT
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Find the coordinates of the point that point P approaches.
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Answer about the next figure.
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Wi AB=4 BC=8, /ABC = 90" O~
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Find the sum of the areas of the squares.

LA

D NI
<,

B1 C1
S1
S
2 S3
B C

~h s
S, o/ wokx#x, LT 5L, NABC «» AAB,C;
b—x;:x;, =4:8 x;:%

'\/v R
S: v/ BokIEX LT B L,

.8 fL. _ J6

4 7~ 3 X X; = 9
~h BB 5 Lo
AoksofpMkE S+ 4 =4
WA 5 L0 2
B oapnke(4) =4

WAt

: & 16
S/@Eﬁffﬁti(g)— o
J6
FOEI L A 9 b Q 76
EZMO@AA DK . -z
/_ —_—
9

> < */v/j >

= 14
HEIE D TV

b AT

[

l_

AB = 4, BC—4 /ABC = 90" O/
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Find the coordinates of the point that the next point P approaches.
nwnEn S0k 9~ bm/vLL) 2525
Bl JEAE R TR P75>J$,'#TO75>% 7 1 12
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A Find the sum of the areas of this squares.
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